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General Marking Instructions

The Grade 12 Essential Mathematics Achievement Test: Marking Guide (June 2024) is based on
Grades 9 to 12 Mathematics: Manitoba Curriculum Framework of Outcomes (2014).

Please ensure that

the student booklet number matches the number on the Scoring Sheet

e only a pencil is used to complete the Scoring Sheet

e the final test mark is recorded on the Scoring Sheet

e the Scoring Sheet is complete and a copy has been made for school records

Please make no marks in the student test booklets. If the booklets have marks in them, the
marks need to be removed by departmental staff prior to sample marking should the booklet be
selected.

Once marking is completed, please forward the Scoring Sheets to Manitoba Education and Early
Childhood Learning using the envelope provided (for more information, see the administration
manual).

Marking

The recommended procedure for scoring student responses is as follows:

1. Read the Marking Guide.
2. Study the student samples provided and the rationales for the allotted marks.

3. Determine the mark for the student’s response by comparing its features with the Marking
Guide descriptions. The descriptions and samples only typify a student’s response to a given
question; an exact match is not anticipated.

The marks allocated to questions are based on the concepts associated with the learning outcomes
in the curriculum. For each question, shade in the circle on the Scoring Sheet that represents the
mark awarded based on the concepts. A total of these marks will provide the preliminary mark.

Errors

Marks are deducted if conceptual or communication errors are committed.

Conceptual Errors

As a guiding principle, students should only be penalized once for each error committed in the
context of a test question. For example, students may choose an inappropriate strategy for a
question, but carry it through correctly and arrive at an incorrect answer. In such cases, students
should be penalized for having selected an inappropriate strategy for the task at hand, but should
be given credit for having arrived at an answer consistent with their choice of strategy.
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Communication Errors

Errors not conceptually related to the learning outcomes associated with the question are called
“Communication Errors” (see Appendix C). These errors result in a 0.5 mark deduction. Each
type of error can only be deducted once per test and is tracked in a separate section on the
Scoring Sheet.

When a given response includes multiple types of communication errors, deductions are
indicated in the order in which the errors occur in the response. No communication errors are
recorded for work that has not been awarded marks. The total deduction may not exceed the
marks awarded.

The student’s final mark is determined by subtracting the communication errors from the
preliminary mark.
Example:

A student has a preliminary mark of 56. The student committed two E1 errors (0.5 mark deduction)
and three E6 errors (0.5 mark deduction).

COMMUNICATION ERRORS/ERREURS DE COMMUNICATION

Shade in the circles below for a maximum total deduction Noircir les cercles ci-dessous pour une déduction maximale
of 3 marks (0.5 mark deduction per error type). Refer to totale de 3 points (déduction de 0,5 point par type
the Marking Guide for details. d’erreur). Consulter le Guide de Correction pour plus de
details.
E1l E2 E3 E4 ES E6
Final Answer/ . Transcription/ Whole Units/ Units/ Rounding/
. . Notation - ol i ol .
Réponse finale Transposition Unités entieres Unités Arrondissement
Test mark / Note au test : 56 = 1 = 35
. I 76
Preliminary Mark Communication Errors
Note préliminaire (maximum 3 marks)
Erreurs de communication
(maximum 3 points)
Marking Guidelines

Follow-through errors

Generally, a student will not be penalized more than once for the same error. A final answer will be
deemed to be correct if it follows correctly from an incorrect intermediate step where marks were
already lost. In multiple-part questions, if an error was made in Part A, but subsequent parts were
completed appropriately based on the incorrect information in Part A, full marks will be awarded
in subsequent parts.

Marks for follow-through errors will not be awarded if

e the answer is wrong and there are no part-mark increments available

e the error is conceptual in nature (e.g., the student used the simple Cosine ratio when the
question called for the use of the Cosine Law)
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Additional-information errors

Students can occasionally provide too much information in their answers. When additional
information is provided, it must be clearly indicated as such. For example, if a student is asked to
calculate a probability, then full marks are awarded for a correct answer even if the odds are also
present—provided this additional information is labelled “odds.”

Irregularities in Provincial Tests

During the administration of provincial tests, supervising teachers may encounter irregularities.
Markers may also encounter irregularities during local marking sessions. The appendix provides
examples of such irregularities as well as procedures to follow to report irregularities.

If a Scoring Sheet is marked with “0” only (e.g., student was present but did not attempt any
questions) please document this on the Irregular Test Booklet Report.

Assistance

If any issue arises that cannot be resolved locally during marking, please call Manitoba
Education and Early Childhood Learning at the earliest opportunity to advise us of the situation
and seek assistance if necessary.

You must contact the person responsible for this project before making any modifications to the
marking keys.

Sara MacPherson

Assessment Consultant

Grade 12 Essential Mathematics
Telephone: 204-793-7004

Email: sara.macpherson@gov.mb.ca
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Home Finance

Question1 E6.H.1

1 mark

Choose the letter that best completes the following statement.
An ongoing cost associated with home ownership is the

A) land survey

B) property tax adjustment

C) home insurance premium

D) land transfer tax

Answer: C
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Question 2 E6.H.1 2 marks

Calculate the annual home insurance premium, before taxes, for the following situation:

e Value of home: $185 000
e Area3

e Comprehensive policy
e $200 deductible

Use the Manitoba Homeowner’s Insurance Rates table on the following page.

Show your work.

Answer:
Rate = $734 <1 mark
Annual premium = 734 x1.10
= $807.40 <1 mark
Note to marker: Award one mark to a student that indicates the correct rate in the given table.

This is considered to be equivalent to writing the correct value in the space
provided.
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Manitoba Homeowner’s Insurance Rates

Manitoba Homeowner’s Insurance Rates ($500 deductible)

Winnipeg Area 2 Area 3 Area 4
Amount Standard |Comprehensive| Standard |Comprehensive| Standard |Comprehensive| Standard |Comprehensive
$ 50 000 195 214 147 161 196 216 261 287
$ 55000 216 238 160 176 217 239 289 318
$ 60000 237 260 173 190 237 261 315 347
$ 65000 252 277 187 205 255 281 339 373
$ 70000 266 303 200 220 270 297 359 395
$ 75000 294 314 210 231 285 314 379 417
$ 80000 310 323 221 243 302 332 402 438
$ 85000 318 333 226 249 313 344 416 462
$ 90000 324 349 231 254 324 356 431 474
$ 95000 348 370 244 268 345 380 459 505
$100 000 364 393 260 286 361 397 480 528
$105 000 390 417 278 306 378 416 503 553
$110 000 402 441 293 322 393 432 523 575
$115 000 418 464 299 329 409 450 544 598
$120 000 436 487 309 340 424 466 564 620
$125 000 451 510 319 351 444 488 591 650
$130 000 472 543 339 373 466 513 620 682
$135 000 498 557 345 380 477 525 634 697
$140 000 523 580 358 394 496 546 660 726
$145 000 538 596 375 413 508 559 676 744
$150 000 550 604 385 424 520 572 692 761
$155 000 557 613 398 438 551 606 733 806
$160 000 565 622 413 454 569 626 757 833
$165 000 572 629 425 468 589 648 783 861
$170 000 590 647 441 485 609 670 810 891
$175 000 607 668 451 496 624 686 830 913
$180 000 620 686 466 513 648 713 862 948
$185 000 636 702 478 526 667 734 887 976
$190 000 652 717 492 541 705 776 938 1032
$195 000 678 742 504 554 720 792 958 1054
$200 000 692 771 519 571 726 799 966 1063
Additional
Amounts Add: Add: Add: Add: Add: Add: Add: Add:
per $1000 $3.15 $3.50 $2.75 $3.03 $3.55 $3.91 $4.72 $5.19
coverage

$200 deductible—Increase premium by 10%

Manitoba no longer charges sales tax on home insurance premiums.
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Exemplar 1

135 ocoo x . 12U
A\ 5790

0 out of 2
e Incorrect rate
e Incorrect final answer

Exemplar 2

3L w 1 = $2635.10

1 out of 2
e Incorrect rate
e Correct final answer (follow-through error) (1 mark)
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Exemplar 3

JERRR IS L AIE

4 SB x\. 667 887

705 776 938
720 792 958
726 799 966
2 out of 2
o Correct rate (1 mark) S;Asdgé $Agd3:1 @d?é

e Correct final answer (follow-through error) (1 mark)

e E3 (makes a transcription error)
e EO6 (does not express the answer to the appropriate number of decimal places)

Exemplar 4

onnual premium = 734 X .10 = 73.40

<34 +73,.90= $507.40 X 1.12
= ¥904. 29

1 out of 2
e Correct rate (1 mark)
¢ Incorrect final answer (incorrect application of taxes)
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Question 3 E6.H.I 1 mark

Describe one energy efficient option that will reduce a homeowner’s energy bill.

Sample Answers:

¢ add insulation to the attic
e purchase high efficiency appliances
¢ install new windows

¢ install weather stripping around doors
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Exemplar 1

A wood- burv\‘\nS stove Yo heot Yhe
lhouse Yo veduce ele&r‘\cﬁy coste,

0 outof 1
¢ Incorrect response (a wood-burning stove is not an energy-efficient option even though it may
reduce natural gas or electric heating costs)

Exemplar 2

- )ig\«"‘s

0.5 out of 1
e Correct response (1 mark)
e Lack of clarity (what about the lights?) (0.5 mark deduction)

Exemplar 3

Hﬂ e{g\c\ex\x enex 0}\5 U?%"Qde_ S so\as ?ov\e\s.

1 out of 1
e Correct response (1 mark)

Exemplar 4

?%3 Coﬁ\q\o\e, \\(\exmob* oX

1 outof 1
e Correct response (1 mark)
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Question 4 E6.H.1

2 marks

Michael is purchasing a property valued at $245 000. The table below shows the land transfer tax

to be paid for the first $200 000.

Land Transfer Tax Table
Value of Property Rate Tax Amount
On the first $30 000 0% $0
(i.eo.,n$ghoe 001 15890 %%0) 0.5% $300
(i.e.c,)g;}(;eol(l)elxtto$§ 105%0(())00) 1.0% 5600
(i.e.,Oél 150,001 10 5$02(())(())(z)00) 1.5% 5750
On amounts in excess of $200 000 2.0%
Total Land Transfer Tax Due

Calculate the total land transfer tax due for this property.

Show your work.

Answer:

Tax amount in excess of $200 000 = 45 000 x 0.02

=$900

Total land transfer tax due = 0 + 300 + 600 + 750 + 900

= $2550

Note to marker: Accept answers in or out of provided boxes.

12
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Exemplar 1

On the first $30 000 0% $0
On the next $60 000 o
(i.e., $30 001 to $90 000) 0.5% $300
On the next $60 000 .
(i.c., $90 001 to $150 000) 1.0% $600
On the next $50 000 .
(i.e., $150 001 to $200 000) 1.5% $750
On amounts in excess of $200 000 2.0%

Total Land Transfer Tax Due (ﬁ ( ( 50
P

RO© 200

- 22 L 60°
- 6

W&CQO ﬁ MSU

- go
_/./73;750

SO

1 out of 2
e No calculation of tax amount in excess of $200 000
e Correct final answer (follow-through error) (1 mark)
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Exemplar 2

Tobl Lanp TRONSFER TAX = §34S,000 -$900.000 X .OZ
* §900

1 out of 2
e Correct tax amount in excess of $200 000 (1 mark)
¢ Incorrect final answer

Exemplar 3

A00000 x 0.3
=R000.°°

§95650.9°

1 out of 2
e Incorrect tax amount in excess of $200 000
e Correct final answer (follow-through error) (1 mark)
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Question 5 E6.H.1

1 mark

Choose the letter that best completes the following statement.

One advantage of purchasing a house rather than renting a similar house is that
A) homeowners need a smaller down payment than tenants

B) homeowners pay less for home insurance than tenants

C) homeowners have more freedom to relocate than tenants

D) homeowners have more freedom to renovate than tenants

Answer: D
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Question 6 E6.H.1 2 marks

A couple is buying a house for $297 000. They make a $30 000 down payment and obtain a
mortgage for the remaining amount. The monthly amortization rate is $10.11 per thousand
dollars borrowed.

Calculate their monthly mortgage payment.

Show your work.

Answer:

Mortgage amount = 297 000 —30 000
=$267 000 <1 mark

10.11
Mortgage payment = 267 000 x ——
gage paym 1000

=$2699.37 <1 mark
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Exemplar 1

97 000
- 30\000
2L? 000

1 out of 2
e Correct mortgage amount (1 mark)

Exemplar 2

XD&“\ E=Relolv)

- ‘530 oYoX=

*Q (D(D(DG:("OO

Q6666300 x 101

—_—

1000

- ¥ 0696 B0 mon
S

1 out of 2
¢ Incorrect mortgage amount
e Correct final answer (follow-through error) (1 mark)

Exemplar 3
7
g = \gm,w‘(iﬁ:‘ﬁ\%’s %/9(8. \
: 000
_ ’J@gm W
o0
_3&,_7_6(:)/0 N = Nol000K Y4937
\ 00O
nMP =370 731,74 .
1 out of 2

e Correct mortgage amount (1 mark)
e Incorrect final answer

Essential Mathematics: Marking Guide (June 2024)
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Question 7 E6.H.1 1 mark

Describe one way to reduce the amount of interest paid over the life of a mortgage.

Sample Answers:

¢ reduce the amortization period

¢ make more frequent payments (example: biweekly rather than monthly)
e obtain a lower interest rate

¢ increase the down payment (less money is borrowed)

¢ make a lump sum payment on the principal
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Exemplar 1

\creose e  yeor WD

<§c>(‘ SNOMPR 110 \ears Yo 7% yex é)

0 out of 1
¢ Incorrect response

Exemplar 2

Poy MOTE 0 redule  Owovht owed Fhrrreyire
HAXikg

0 out of 1
¢ Incorrect response

Exemplar 3

- L0 e € year loor

0.5 out of 1
e Correct response (1 mark)
e Lack of clarity (5 years compared to what?) (0.5 mark deduction)

Exemplar 4

o &  Short morljﬂ)/f /‘.’Q/
Perod
ex) 2Syrs 1astea QZUL 20 grs

1 outof 1
e Correct response (1 mark)
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Question 8 E6.H.1 3 marks

The monthly mortgage payment for a house is $1846, the annual property taxes are $2800, the
monthly heating cost is $180, and the gross monthly income of the purchasers is $6000.

Calculate the Gross Debt Service Ratio.

Show your work.

Answer:

Monthly property taxes = 2800 + 12
=$233.33

Monthly ~ Monthly Monthly
mortgage + property + heating
payment taxes costs

GDSR = -
Gross monthly income

No mark for 1 correct substitution

(1846 +233.33 +180) or o
= 1 mark for 2 or 3 correct substitutions
6000 or

2 marks for all correct substitutions

225933
6000
—0.376 55...

=0.38 or 37.66% <1 mark

20 Essential Mathematics: Marking Guide (June 2024)



Exemplar 1

(546 12 =233 33
233.33 2800
- 180

@9;54.33

1 out of 3
e Three correct substitutions (1 mark)
e Incorrect final answer

Exemplar 2
Y1846 + 78004 4[80
Hpzb
= “Boo0 X100
= 0.90x 100

o 80 )i
The G Debt Sevvict Baho 15 B0,

2 out of 3

e Three correct substitutions (1 mark)

Correct final answer (follow-through error) (1 mark)
E5 (uses incorrect units of measure)

E6 (rounds too soon)
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Exemplar 3

/1846 + 2333  (Bo

LoD
- 2039.36
2 out of 3

e All correct substitutions (2 marks)
e Incorrect final answer

Exemplar 4

846 + A53%. +
( 33.33 ~180)) _ o, 28
6000

rC,Dskz 0.38%

2 out of 3
e All correct substitutions (2 marks)
e Incorrect final answer (incorrect application of percent symbol)
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Exemplar 5

(GOSR = (/%

3 outof 3
e All correct substitutions (2 marks)

\"2

W 09573'53 + 1%0

S

L 00

A

e Correct final answer (follow-through error) (1 mark)

e E3 (makes a transcription error)
e EO6 (rounds incorrectly)

ey —
—

2300 - 9552

E6

Essential Mathematics: Marking Guide (June 2024)
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Qllesti()n 9 E6.H.1 3 marks

Calculate the total amount of property tax to be paid for the following situation:

Portioned assessment $182 000
Municipal mill rate 13.2 mills
Education taxes $2145
Frontage 110 ft.
Local improvement cost $4.05/1t.
Property tax credit $700
Show your work.
Answer:
13.2

Municipal tax =182 000 x
1000

= $2402.40 <1 mark

Local improvement cost =110 x 4.05
= $445.50 <1 mark

Total property tax = 2402.40 + 2145 + 445.50 — 700
=$4292.90 <« 1 mark
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Exemplar 1

(232037 b

— oo-_
182,000 +13.1% 1, s+ (10X 4.09)-1 .

2 out of 3

¢ Incorrect municipal tax

Correct local improvement cost (1 mark)

Correct total property tax (follow-through error) (1 mark)

E6 (does not express the answer to the appropriate number of decimal places)

Exemplar 2
CANCORON _ %945
ok
M\m\up&\ _ %9200 = 122 il Ao
Y o 1 000
_% 0
X00R R _ A0  09) =195
£(OTOY . ok
\\X\Q(Q\
#7700
ToYa Jzn%fmm.qoﬁwaeso»f

{)mpe(\'\) = % Bbq;l-qo
Tox

2 outof 3

e Correct municipal tax (1 mark)

e Correct local improvement cost (1 mark)
e Incorrect total property tax
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Exemplar 3

A BoR X V32 - Jy0.H0
(ABOD % o2

1000

Y4 oaup + 2143 F (465 X 110)

-fyqq3 90

2 outof 3
e Correct municipal tax (1 mark)

e Correct local improvement cost (1 mark)

¢ Incorrect total property tax

26
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Precision Measurement

Note: Do not round answers in this unit.

Question 10 E5.P.1 1 mark

Janalee is baking a cake. Before measuring the ingredients, she notices that her scale is not
correctly calibrated.

Choose the letter that best completes the statement below.
The aspect of measurement most affected is

A) accuracy

B) precision

C) tolerance

D) uncertainty

Answer: A
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Question 11 E5.P.1 1 mark

State the precision of the clock shown below.

Answer:

1 minute or L hour
60
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Exemplar 1

Pfedsiw\'—'

0O outof1
e Incorrect answer

Exemplar 2

L weo
T

0 outof1
e Incorrect answer

Essential Mathematics: Marking Guide (June 2024)
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Question 12 E5.P.1 2 marks

The thermometer of Genevieve’s oven has a precision of 5°F.

A) State the uncertainty of the thermometer. (1 mark)

Answer:

Uncertainty =5+ 2

=1 2.5°F <1 mark ( £ not required)

B) Genevieve needs to preheat her oven to 375°F.

State the maximum possible temperature of the oven at this setting. (1 mark)

Answer:

Maximum temperature = 375 + 2.5

= 377.5°F <1 mark
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Exemplar 1

»Q B e]
3)375,508(

1 out of 2

e Correct answer in Part A (1 mark)

e Incorrect answer in Part B

e ES5 (does not include units in final answer)

Exemplar 2
P, u
A) 5 - 2,5 ﬁ E5
B) m Mmayivum ‘\'Qm PMO\"W Mo ouen wo b

1 out of 2

e Correct answer in Part A (1 mark)

e Incorrect answer in Part B

e E5 (does not include units in final answer)

Exemplar 3

A) Oaé-a/'/
BI3?E,6°F

1 out of 2
e Incorrect answer in Part A
e Correct answer in Part B (follow-through error) (1 mark)

Essential Mathematics: Marking Guide (June 2024)
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Question 13 E5P.1 3 marks

A) State the minimum value of 8 ft. £ 0.5 ft. (1 mark)

B)

C)

Answer:

1.5 ft.

State the maximum value of 30 cm *) " (1 mark)

Answer:

30 cm

State the nominal value as a midpoint of %22 ig (1 mark)

Answer:

18.5 in.

32
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Exemplar 1

A) minimum value: ( >, 6 ?"’

B) maximum value: %CM

C) nominal value as a midpoint: )% ) 5 (N

2 outof 3

¢ Incorrect answer in Part A

e Correct answer in Part B (1 mark)
e Correct answer in Part C (1 mark)

Exemplar 2

& -0.5

A) minimum value: f . 5 [ k

3040

B) maximum value: %Q amn

.Sy \7.5- )

C) nominal value as a midpoint:fa‘% . QS m.

2 outof 3

e Correct answer in Part A (1 mark)
e Correct answer in Part B (1 mark)
e Incorrect answer in Part C

Essential Mathematics: Marking Guide (June 2024)
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Exemplar 3

A) minimum Value:7—5ﬁ E5
B) maximum value: 30 ﬁ ES

1—
C) nominal value as a midpoint: )quc - /

2 outof 3

e Correct answer in Part A (1 mark)

e Correct answer in Part B (1 mark)

e Incorrect answer in Part C

e E5 (does not include units in final answer)

(A8 t(7s
=% S

34
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Question 14 E5.P.1 1 mark

State the range of acceptable measurements for the following form of tolerance.

+0.3 mm

26 mm "5 o

Answer:

24mmto29mm or 0.5 mm
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Exemplar 1

+ 2. mn
2 dmm

0 out of 1
e Incorrect answer

Exemplar 2

A T 11T, :"O,g i

0 out of 1
e Incorrect answer

Exemplar 3
A.9m oc pa L NRURWN
0 out of 1
e Incorrect answer
Exemplar 4

max - 29 mm

win: 2.4 m»r

1 outof 1
e Correct answer (1 mark)

Essential Mathematics: Marking Guide (June 2024)
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Question 15 E5P.1I 1 mark

Choose the letter that best completes the statement below.

When given a measurement in the form “nominal value * > tolerance”, the measurement must

never be

A) less than the nominal value

B) greater than the nominal value
C) less than the maximum

D) greater than the maximum

Answer: D
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Vehicle Finance

Question 16 E5.V.1 1 mark

Ricardo needs to get a new vehicle. He drives long distances for work and family activities.

Justify why Ricardo should buy rather than lease a vehicle based on this information.

Sample Answer:

Ricardo should buy a vehicle because, when leasing, there is a fee for exceeding the limit on
kilometres.
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Exemplar 1

buy becoanse hes Joir§do be driving a cof.

0.5 out of 1
e Correct response
e Lack of clarity (driving a lot?) (0.5 mark deduction)

Exemplar 2

W o \esse ¥ oelonte ' S Yy distonees s

e ANat\¢3) Mere  Senie v Qo‘b \ swer W\mﬂ\\\\p \OQ’jW‘H
O puiing W o tileage, 0% W AR \wand o 0w
o COC ik Sy ek enlene

0 outof 1
e [ncorrect response

Exemplar 3

R\\LO\PAO l,\(\oU\A \Ouy o vealde
bccause {X \/\\0\}\(\“ (oML o()\’

(,\mawx e \o,ab\w\g o veh'cle

0 out of 1
¢ Incorrect response
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Exemplar 4

Re  grousde uk) decoumde

he=terto—pegemall
B

Iy s an M'PW\PM
VU de and, e weudol s

Nocrk KO howe
fopt P QLeos—
e

geod
cordXe

0 out of 1
¢ Incorrect response
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Question 17 E5.V.1 2 marks

Jen is buying a new vehicle from a dealership for $26 400. The dealership has agreed to accept
Jen’s old vehicle with a trade-in value of $7400.

Calculate the amount she will pay for the new vehicle, after taxes.

Show your work.

Answer:
Pre-tax amount = 26 400 — 7400
=$19 000 <1 mark

Amount after taxes =19 000x1.12
=$21 280 <1 mark
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Exemplar 1

AL Yo (1400 = § 19006

l 100 é + 0105 +o.o7:EIQO06.n
Jen will paY affer 4oy A
her ey yewele Lor f{l%ob-\?

1 out of 2

e Correct subtraction of down payment (1 mark)
e Incorrect taxes

e E3 (makes a transcription error)

Exemplar 2

Ale HOO x \.\=x
= 29 5063 - 7400
2552 118

1 out of 2
e Incorrect application of taxes
e Correct subtraction of down payment (1 mark)

Exemplar 3
4 000 03 1LY
S ja 000k 0° 72—7{0\
1o 0%°
|4 oo
I A drkd

$ 21 470
1 out of 2

e Correct subtraction of down payment (1 mark)
e Incorrect taxes
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Question 18 E5.V.1 2 marks

Jacques is buying a used car privately for $16 500. The book value of the car is $15 400.
Calculate the amount Jacques will pay for the car, after taxes.

Show your work.

Answer:
PST on purchase price =16 500 x 0.07

=$1155 <1 mark
Amount after taxes =16 500 +1155

=$17 655 <1 mark

Note to marker: Award one mark for a follow-through error only if the PST is added to
$16 500.
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Exemplar 1

[bS co x 001

+ \01% $ 107%
i

1 out of 2
e Incorrect PST
e Correct amount after taxes (follow-through error) (1 mark)

Exemplar 2

G)\BOO YO-Oj -;%\ \66 +

16559

60\\6: \ \
Q)Qo\‘v 154

1 out of 2
e Correct PST (1 mark)
e Incorrect amount after taxes

Exemplar 3

$)(500 %).07 _ {51765 0

2 out of 2
e Correct PST (1 mark)
e Correct amount after taxes (1 mark)
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Question 19 E5.V.1 1 mark

Paula states the following:

“If you are involved in an accident, your car insurance premium and/or driver’s license
costs will increase.”

Explain whether Paula is correct.

Sample Answers:

e Paula is correct only if you are at fault for the accident.

¢ Paula is incorrect because these costs only increase if you are at fault.
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Exemplar 1

T+ depends on Yhe cirtumstonees. TF oo ore o Foult
$or Y accdent” H«‘A{ il g0 U‘Q moce Yhon X
\ov acen't - Bt '\'\”)'\CO“\/, ’fN\{ v/l qo .

0 out of 1
¢ Incorrect response

Exemplar 2

(ees becacye demerts WL be odbed aq
jou{ [(.;ewc'e—j

0 outof 1
e [ncorrect response
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Exemplar 3

Jes pada 1 corect Yhe more accidents yov Ore inoled

A more you il Yow Yo pay for o litent eusy Y e
pecoyse WA o R o _onue yoo ok COPQ\Q\’- of
AV o Ong uwwer  yow gex i a \ox G‘F

occl Yoo  geX damarts ant Wne oz s get
+ne pove 4 30{,5 doun  and \jov Po\\« wore  oswell.

0.5 out of 1
e Correct response (1 mark)
e Lack of clarity (... if you are at fault) (0.5 mark deduction)

Exemplar 4

0 ! m 'ILO
T ‘l”t{ Ol\'( Co((&(fl’ ‘\CSmw"ﬁ M&\/Lﬁscr/(/@
H\{’/ !l‘f\);vfmﬁﬁ CO(‘/'\\OM)/ Osl)oq\* ﬂtc ACCIA‘C{\%’ ,(\ﬂo oneJoeS
fhen Yoo 05k Would aot Tacresst.

1 out of 1
e Correct response (1 mark)
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Question 20 E5.V.1 3 marks

Suni takes his car to a garage for repairs. The details of the work done are shown below:
Parts: Labour:
Fan belt $85 3.25 hours at $95 per hour
Radiator  $158
Calculate the total amount Suni will pay for these repairs, after taxes.
Show your work.
Answer:
Parts = 85 +158
= §$243

Labour = 3.25%x95
=$308.75 <« 1 mark

Subtotal = 308.75 + 243
=$551.75 <1 mark

Total amount = 551.75%x1.12
=$617.96 « 1 mark

OR

Answer:

Total parts cost = (85 +158) x1.12
=$272.16 <1 mark

Total labour cost =3.25x95x1.12
= $345.80 <1 mark

Total amount = $272.16 + $345.80
=$617.96 <1 mark
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Exemplar 1

~ %901
W3x.0r = 0
‘qu;{.oS': 1908

b9

3 — '5()9:75'/\"
Y Sa L S

07— ~ab)
HS =153 L

308.75" bl HISHY3 y29lbz

1537»95‘

2 outof 3

Correct labour (1 mark)

¢ Incorrect subtotal

e Correct total amount (follow-through error) (1 mark)
e EO6 (rounds incorrectly)

Exemplar 2

VARV R

554158 + 309.70 - 501.70

485
nqsz;()i @57 §81-70f0. 10 =$1597-50

2 out of 3

Correct labour (calculated pay per minute) (1 mark)
Correct subtotal (1 mark)

Incorrect total amount

E6 (rounds too soon)
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Exemplar 3

1S (1,\1\ = 951
158 (1-12) = EICRRI

32555112y = 245.8

152+ 1006 + 3453 = % \F.90

3 outof 3

e Correct labour (1 mark)

e Correct subtotal (1 mark)

e Correct total amount (1 mark)
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Question 21 E5.V.1 3 marks

Nick owns a hybrid vehicle. The fuel economy of his vehicle is 4.6 L/100 km.

A) Calculate the amount of fuel Nick’s vehicle will use if he plans to travel 2475 km during his
summer vacation. (2 marks)

Show your work.

Answer:
L Fuel used in litres
100 km Distance travelled in km
46L X

100km 2475 km <1 mark for process

_ 2475kmx4.6 L
100 km

=113.85L <1 mark

B) Nick spends $182.17 on fuel while on vacation.

Calculate the cost of fuel per litre. (1 mark)

Answer:
Cost of fuel = 182.17
113.85
=$1.60/L <1 mark
or
=160.0¢/L
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Exemplar 1

A Y. K100
| au15

= 0O.1&5 X100
< 1¢.59 L

B 184 .17 1858
$q.20 [
1 out of 3

e Incorrect process in Part A

¢ Incorrect fuel amount in Part A

e Correct answer in Part B (follow-through error) (1 mark)
e ES5 (missing units of measure)

—
—

Exemplar 2

4.6

N T 24715

4.6 % 24°1S E

=1138S t10- Wiz.8sL /2415

: $1.cpo/L

B 182.17
11%.85

3 outof 3

e Correct process in Part A (1 mark)
Correct fuel amount in Part A (1 mark)
Correct answer in Part B (1 mark)

ES5 (missing units of measure)
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Question 22 E5.V.1

4 marks

Sadie is leasing a vehicle for $179 per month, after taxes. The term of the lease is for three years,
and Sadie must pay $2100 at the time of signing the lease.

A) Calculate the total amount Sadie will have paid to lease the vehicle after three years. (2 marks)

B)

0

Show your work.

Answer:

Total lease payments =179 x 12 x 3
= $6444 <1 mark

Total paid after three years = 6444 + 2100
= $8544 <1 mark

Sadie decides to buy the vehicle at the end of her lease. The buyout price is $8000, after
taxes.

State the total amount that Sadie paid to lease, and now buy this vehicle. (1 mark)

Answer:

Total amount = 8544 + 8000
=$16 544 <1 mark

The original purchase price of the vehicle was $15 000, after taxes.

Justify whether Sadie made a good decision to lease, and then buy this vehicle. (1 mark)

Sample Answers:

e No, Sadie did not make a good decision because she paid more overall.

e Yes, Sadie made a good decision because monthly lease payments were lower, making it

more affordable monthly.
¢ Yes, Sadie made a good decision because it gave her the option to return the vehicle.
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Exemplar 1

N |79 K bo = (0710 + 2190 = 41284

B) Kooo} [A8Y0 :ﬂgzo 240

C) /Sooo )([,/02:(81é (177 .
Sl guld hove JusF bought it

2 out of 4

e Incorrect lease payments in Part A

Correct total amount in Part A (follow-through error) (1 mark)
Correct answer in Part B (follow-through error) (1 mark)
Incorrect justification in Part C

Exemplar 2

A) 119 x 1412 = 200 4g
0749 Y12 x3 = TUT 29 4 2190
HB9317 19

B)  £000 4+ 931729 . Ky u12p

©) Vadie didn'? made & g,ovd. deecnon becavse (A

prged W gpg.0p  whth 0 &2 2070 2g more Than
purchaﬁ'nj Yoo vehic T st /5 000 She Juwt (1} hervelS

F’f more

3 out of 4

¢ Incorrect lease payments in Part A (incorrect application of taxes)
e Correct total amount in Part A (follow-through error) (1 mark)

e Correct answer in Part B (follow-through error) (1 mark)

e Correct justification in Part C (1 mark)
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Exemplar 3

N (A X |12
—{-00 49
=~ 200 4% X

= £ 931 29

/f

2% 2 + 2/00

B) S000 x\.2 A3(F+.2¢

W??

0 (S,000 X [.I2 (82773 -29

F 43728 WO

—

3 outof 4

¢ Incorrect lease payments in Part A (incorrect application of taxes)
e Correct total amount in Part A (follow-through error) (1 mark)

e Correct answer in Part B (follow-through error) (1 mark)

e Correct justification in Part C (1 mark)

Note to marker: A maximum of one mark is deducted for an incorrect, but consistent
application of taxes in parts A, B, and C.
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Question 23 E5.V.1

2 marks

A vehicle is worth $37 650. The vehicle’s value depreciates at a rate of 20% per year.

Calculate the value of the vehicle at the end of the second year.

Show your work.

Answer:

Year 1: 37 650x 0.20 = 7530

37 650 — 7530 = $30 120
Year 2:30 120x 0.20 = $6024
Value of vehicle = 30 120 — 6024

} <1 mark for process

= $24 096 <1 mark
OR
Answer:
Value after Year 1: 37 650x 0.80 = $30 120 <1 mark
Value after Year 2: 30 120 x 0.80 = $24 096 <« 1 mark
OR
Answer:

37650 (1- 0.20)2 <1 mark for process
=$24 096 <1 mark
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Exemplar 1

27650 X o. %o
- Q5 o
3716601 [S o060
= ‘ﬁ 2?\,5@0

1 out of 2

e [ncorrect process
e Correct final answer (follow-through error) (1 mark)

Exemplar 2

®%1 LB0 ~T1520

q eol Prevethie
fierex 2 9 1S 0RYEN %20\20

1 out of 2
e Correct value after Year 1 (1 mark)
e Incorrect value after Year 2
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Exemplar 3

Ul4650-15%0 -L,0\r0

/50\7—0

2 out of 2
e Correct value after Year 1 (1 mark)
e Correct value after Year 2 (1 mark)

U L QU4o0l6
Lo ’b/_,,__

/____..—-—-——«
|E5

e E5 (does not include units in final answer)

Exemplar 4
AS+ 3‘”" &37650 ¥o.30 ~4§1350
E3
37050 - 1359
= 3%300.00

9”5\3(;0\\". 35507_)00)(090 _E_3V|

= fbet o
$3030

2 out of 2

e Correct process (1 mark)

e Correct final answer (1 mark)

e E3 (makes a transcription error)

_(3000:

O
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Probability

Question 24 E6.P.1

1 mark

The odds of winning a race are 1: 3.

State the probability of winning this race.

Answer:

% or 025 or 25% or oneoutoffour

Note to marker: Accept equivalent representations.
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Question 25 E6.P.1 1 mark

Probability represents a comparison between the number of favourable outcomes and the total
number of outcomes.

Explain what odds represents.

Sample Answers:

e a comparison between a favourable outcome and the number of unfavourable outcomes
(or vice versa)

e a part-part relationship
e for : against
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Exemplar 1

O o Ok ome XNy Yo  oadytr

. N wperts e D Are\es

(RHEN LT oH LS Xa SN EVPTINS
Ne WS

0 outof 1
¢ Incorrect response (explained ratio, not odds)

Exemplar 2

EX«MPIC

2
(gﬁ@(@ 0 0o 000009 5

0dd =

(\(brwlnmm) 307

1 outof 1
e Correct response (1 mark)
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Exemplar 3

OO\dS Pre Cenks Hhe Nnumberpf £aliter -

nuen

1 outof 1
e Correct response (1 mark)

Lon Of SuccSesful guf Comes

Exemplar 4

(lLances of A l«aQW“"} / Clawnces of ix uo \‘“\"(’G‘M;L

1 outof 1
e Correct response (1 mark)
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Question 26 E6.P.1 4 marks

“Pop the Balloon” is a carnival game that involves popping a balloon with a dart. There are 50

balloons taped to a wall, each with a coloured piece of paper inside. It costs $1 to play and the
prizes are listed in the table below.

Pop the Balloon
Colour of Paper Number of Balloons Prize Value
Inside of the Balloon (Out of 50) per Balloon
Red 12 $5
Blue 18 $3
White 20 $0

A) Calculate the expected value of this game from a player’s perspective. (3 marks)

Show your work.

Answer:

EV = P(win) x $gain — P(lose) x $loss

(o 3o (B

1 mark 1 mark
=(0.24)(4)+(0.36)(2)-0.4
=0.96+0.72-04
=$1.28 <1 mark
OR
Average earnings = (%j (85)+ (%) ($3) <1 mark for process
=$2.28 <1 mark
Expected value = 2.28 — 1
=$1.28 <1 mark

B) Justify whether the carnival should continue to offer this game based on your answer in
Part A. (1 mark)

Sample Answers:

¢ No, the game has a positive expected value for the player, so the carnival will lose money
over time.

¢ No, the game has a negative expected value for the carnival.
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Exemplar 1

A) (0.6 (7) - (0>CV

Y1 - 0.y = 3% iE6

ES

B) Vo ba cavuse 4Le Clhances O3 wim &t S0 mudh \.;3\40 -QL\@.( wio A+

rmal(e veouney

2 out of 4

Incorrect P(win) x $gain in Part A

Correct P(lose) x $loss in Part A (1 mark)

Correct final answer (follow-through error) in Part A (1 mark)

Incorrect response in Part B

ES5 (does not include units in final answer)

E6 (does not express the answer to the appropriate number of decimal places)

Exemplar 2

N Fus (32)6t3) - (85 x (81)
5o
ug - 0.4 =4 U0

B) ey, lecwusl iy i (i\(etg yov Ll
lOLx

MAW oYX v GM!\:)( cocnivel o (ov\.} but bead' ¥ e ?lav, e o
He g ond.

2 out of 4

e Incorrect P(win) x $gain in Part A

Correct P(lose) x $loss in Part A (1 mark)

Correct final answer (follow-through error) in Part A (1 mark)

Incorrect response in Part B
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Exemplar 3

A) o ol
Expecied valve = DL x pougook — WInoX O pe) :F ;?
‘ = (P(red) x D + (PLowd x32) -\
d
*_\'8 = (la Kj\-»(\@ﬁ%\"“oo
(9505 = D +~ DM -1.00
ollcons.

- ¥y

B) No I don't -\’v\mt,%eﬂ shoold.  Todrons only

pow) BN00 1o ploy lout they con win
op o ®ir3.00

2 out of 4

e Incorrect process in Part A

e Correct average earnings in Part A (follow-through error, incorrect representation of
probability counts as one incorrect value) (1 mark)

e Correct expected value in Part A (follow-through error) (1 mark)

¢ Incorrect response in Part B
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Exemplar 4

A Tood R of BENors: SO
0 o tod | Blg' | B, AT | wanve

E3

TS DT CRDHGB-D - LA\

LAY A LAY = LD
(LB - L0

B) QORI $Rre WKL peaphe O Luining, mMIch
MONBLY, | S9N CONMNOY codd\%f
o tor svmgvrr profit

3 out of 4

Correct P(win) x $gain in Part A (1 mark)
Correct P(lose) x $loss in Part A (1 mark)
Correct final answer in Part A (1 mark)
Incorrect response in Part B

E3 (makes a transcription error)
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Question 27 E6.P.1 1 mark
Melissa is planning a trip to the beach.
This week’s weather forecast is shown in the table below:
Day 1 Day 2 Day 3 Day 4 Day 5
Probability of Rain 10% 35% 10% 90% 20%
Temperature 20°C 18°C 25°C 25°C 21°C

Explain which day Melissa should plan to go to the beach, using the given probabilities.

Sample Answers:

e Melissa should plan to go to the beach on Day 3 since the probability of rain is low and the
predicted temperature is high.

e Melissa should plan to go to the beach on Day 1 or Day 3 since there is only a 10%

probability of rain.
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Exemplar 1

on daw Y becowe e s a Vey
L\,‘% probabitivy, Mot i+ il pbe 15
of Y0/

0 out of 1
¢ Incorrect response

Exemplar 2
she svouwls  go Doy | becausc e cnonce
15 lowey on 4  temp is also fowee compared

TO DO\1 3.

he wrottv & 15 the more Posieling it could
c\ou o becous c#f tNaperatec M

ror0  or
v\l cowse clowds tTo

<
o€ :nwo’\— e rnox
fFfovon

1 outof 1
e Correct response (1 mark)
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Question 28 E6.P.1

1 mark

Shawn says the probability of catching a fish is 60%.

Choose from the letters below the statement that is correct.

A) The probability of not catching a fish is 3 out of 5.
B) The odds for catching a fish are 3 : 2.
C) The odds for catching a fish are 2 : 3.

D) The odds against catching a fish are 3 : 2.

Answer: B

76
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Question 29 E6.p.1 1 mark

Darian says the probability of an event occurring is 150%.

Explain why Darian is incorrect.

Sample Answers:

Probability cannot be greater than 100%.
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Question 30 E6.P.1 2 marks

A set of 40 cards contains 10 red cards, 10 blue cards, 10 green cards, and 10 yellow cards.

Lindsay pulled 9 cards as shown below:

A) State the theoretical probability of pulling a red card. (1 mark)

Answer:

Z or 025 or 25% or one outof four

Note to marker: Accept equivalent representations.

B) State the experimental probability of pulling a blue card. (1 mark)

Answer:

2
5 or 022 or 22.22% or two outofnine

Note to marker: Accept equivalent representations.
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Exemplar 1

N
a
B2 _ 7

o)
0 out of 2
e Incorrect answer in Part A

e Incorrect answer in Part B (incorrect application of percent symbol)

Exemplar 2

4) \0*Ho
B \0HO

1 out of 2
e Correct answer in Part A (1 mark)
e Incorrect answer in Part B

Exemplar 3

A 10
4o

B 2:7
1 out of 2

e Correct answer in Part A (1 mark)
e Incorrect answer in Part B

Exemplar 4

A) 125

—

q

B) A
g % 223%
2 out of 2
e Correct answer in Part A (1 mark)
e Correct answer in Part B (1 mark)
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Geometry and Trigonometry

Question 31 E6.G2 2 marks

The diagram below shows an isosceles trapezoid.

B C

78°
A D

A) State the measure of £ D. (1 mark)

Answer:

ZD =78°

B) State the measure of £ B. (1 mark)

Answer:
/B =180-78
=102° <1 mark
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Exemplar 1

A LD=Ro-78
4p=lg2”

B) LB=4D
LB=)p2°

0 out of 2
e Incorrect answer in Part A
e Incorrect answer in Part B (contradictory information)

Exemplar 2

A) 78°
B) (90° ?9-28:2¢/2p2= {2_"

!-g [~
1 out of 2
e Correct answer in Part A (1 mark)
e Incorrect answer in Part B

Exemplar 3

A) Same oSLAﬁ E2

Two  onges ae He Some

B) Sowt os LC

Two  Sider ave He same

1 out of 2

e Correct answer in Part A (1 mark)

e Incomplete answer in Part B

e E2 (answer expressed in an alternative form than requested)
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Question 32 E6.G2 3 marks

A) Calculate the measure of one interior angle in a regular hexagon. (2 marks)

Show your work.

Answer:
. 180° (n — 2)
Interior angle = ———
n
180°(6 -2
= # <1 mark for process
_720°
6
=120° <1 mark

B) Calculate the measure of one central angle in a regular hexagon. (1 mark)

Answer:
Central angle = 360
n
_360°
6

=60° <«1 mark
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Exemplar 1

A) 3000 = O
0 out of 3

e Incorrect process in Part A
e Incorrect final answer in Part A
e Incorrect answer in Part B

Exemplar 2

A 305 = (KO

o (0"

1 out of 3

e Incorrect process in Part A

¢ Incorrect final answer in Part A

e Correct answer in Part B (1 mark)

Exemplar 3

A) (b—'&)(\&o) _ ‘SOO
(>

B) 100-130x oo

OO =
= = \Co
2 outof 3

e Correct process in Part A (1 mark)
e Correct final answer in Part A (1 mark)
¢ Incorrect answer in Part B
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Question 33 E6.G2 2 marks

A) Describe one reason why all rectangles are parallelograms. (1 mark)

B)

Sample Answers:

Rectangle
[T f

H

A rectangle has all of the properties of a parallelogram, such as

two pairs of opposite sides that are parallel

two pairs of opposite sides that are equal in length
opposite angles that are equal in measure

adjacent angles that are supplementary

diagonals that bisect each other

Describe one reason why not all parallelograms are rectangles. (1 mark)

Sample Answers:

Parallelogram

A,

All parallelograms are not rectangles because

a parallelogram can have angles that are not 90°

diagonals of parallelograms are not equal in length

84
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Exemplar 1

A) &Qquge \o()*\(\ none X~ PCL\YS O’?

Cotoyuent g des.
B e cause ?o.XOJ\dCL%YMS a(e
Showped A EhexeniLy

0.5 out of 2
e Correct response in Part A (1 mark)

e Lack of clarity in Part A (does not indicate that the congruent sides are opposite each other)
(0.5 mark deduction)
¢ Incorrect response in Part B

Exemplar 2

A Becavse N ecth rclangle Cver, Yhere are
1 seks of diffEent iralel lnes phay

m o

B Becavse nere are Plenty More shapes
ot have paclel lings that oen

o 6)65

1 out of 2
e Correct response in Part A (1 mark)
¢ Incorrect response in Part B
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Exemplar 3

A) - oppPoCiTe SIDE ARE PARAUEL AND EQUAL.

B) _ rnoT EQUAL SIDES

1 out of 2
e Correct response in Part A (1 mark)
¢ Incorrect response in Part B

Exemplar 4

A) 1 ponrs of opPoSHC sidesS are parallel

B) when Oaly one foiv o€ opposite sides  are
Porauel oCcausl all 4 008166 Qre NoO
loncae,r qo°

1 out of 2
e Correct response in Part A (1 mark)
e Incorrect response in Part B
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Question 34 E6.G.1 3 marks
James is kayaking to an island.
X
ls
—|
684 m J
Calculate x, the distance James will travel if he kayaks to the island.
Show your work.
Answer:
a b . . . .
- =— <1 mark for identification of sine law
sinA sinB
x 684
sin124°  sin39° o
. <1 mark for process/substitution
(sin124°)(684)
X =
sin 39°
x=901.07m <1 mark
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Exemplar 1

> - o - ¢
SWA - QNg ONC

Bm |
gN O4° Ok ONIW

Y =S, Oem

2 out of 3

e Correct identification of sine law (1 mark)
e Correct substitution (1 mark)

¢ Incorrect final answer

Exemplar 2

S'nﬂ - SOnB - S‘o"! C
— e <
za® _ 129° _ ég
6395 =~ X -

(o]

39 l/”"o

6%94 X

[124/x684) _
— 29 '

2 out of 3

e Correct identification of sine law (1 mark)

¢ Incorrect substitution

e Correct final answer (follow-through error) (1 mark)

88 Essential Mathematics: Marking Guide (June 2024)



Exemplar 3

(50w 120) (494
[9}./\ 479\

- 40/,101'%\
N

E6

3 outof 3

e Correct identification of sine law (1 mark)
e Correct process (1 mark)

e Correct final answer (1 mark)

e EO6 (rounds incorrectly)
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Question 35 E6.G2 1 mark

Choose the letter that best completes the following statement.
Isosceles triangles have

A) all side lengths equal

B) two equal side lengths

C) no equal side lengths

D) three equal angles

Answer: B
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Question 36 E6.G.1 3 marks

Calculate the measure of £ A.

94 m
6.2 m
A
4.5m
Show your work.
Answer:
b +c* —a? . ) . .
COsA = T <1 mark for identification of cosine law
C
(4.5)° +(9.4)° - (6.2)
cos A =
2 (4.5) (9.4)
CosA = 2025+ 88i366 —38.44 <1 mark for process/substitution
cos A — 70.17
84.6

/A =cos™ (0.8294...)
Z A =33.96° <1 mark
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Exemplar 1

< 45m C

CO(.)(A) = \01_%' 61 Y cv"z_.

—————

wAYS

CoolAD = 4426+ 20.25* B%. 44 = V\41.0%
V&G 56X 10,26 = 2) 219559

Los(A)= \AT.06  _ 5 o4loa...
2, 514 %

2 outof 3

Correct identification of cosine law (1 mark)

e Incorrect substitution

e Correct final answer (follow-through error) (1 mark)
e ES5 (uses incorrect units of measure)
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Exemplar 2

(qu?sq.5% e.a*)

295D

- R 6; oY 6;0

2 out of 3

e Correct identification of cosine law (1 mark)
e Correct substitution (1 mark)

e Incorrect final answer

Exemplar 3

COS-A': é,z?— ”"’1'4’5 =
-z(’l.ll)(‘I‘S)

= ‘70¢|7

~80.6

o = 29.4%

2 outof 3

e Correct identification of cosine law (1 mark)
e Correct substitution (1 mark)

¢ Incorrect final answer
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Statistics

Question 37 EsS.1 1 mark

A class of 10 students was surveyed. The students were asked how many hours per week they
spend doing homework.

The survey results, in hours, are shown below:

2 6 3 4 35 | 25 8 4 5.5 1.5

State the median.

Answer:

1.5 2 25 3 35 4 4 55 6 8

E/_J

35+4

Median =

B 7.5
2
= 3.75 hours <1 mark
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Exemplar 1

2 35 | 25 8 4 5.5 1.5

6 3 4
SYAGY Y5

%,6/q

0O outof1
e Incorrect answer

Exemplar 2

2 6 371 4 35 | 25| 8 4 55 | 1.57

1.8 3.35,2.35 4.4,55b.%

2.6 +Y

/——-

)

- 5.5
.56 hrs

0O outof1
e Incorrect answer

Exemplar 3

2/T 6 1 3/ 3525 8 ] 455 15

7 E— 7

15,2,9%,535,04,55 ,b,%
N

3544 - 7
a —
0O outof1

e Incorrect answer
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Question 38 EsS.1 3 marks

The table below shows the number of cars sold by a salesperson for the first six months of the
year.

Month Number of cars sold
January 4
February 10
March 18
April 20
May 32
June 12

A) Calculate the mean number of cars sold per month. (1 mark)

Answer:
4+10+18+20+32+12
Mean =
6
B 96
6
=16 cars <1 mark

B) Calculate the trimmed mean by removing the highest and lowest number of cars sold.
(2 marks)

Show your work.

Answer:
Trimmed mean = 10+18 : 20+12 <1 mark for process
_60
4
=15 cars <1 mark

Note to marker: Award one mark for a follow-through error only if the numerator or
denominator is correct.
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Exemplar 1

A) “x\ox B A oA A2
Ao

B) \OX R ¥3.0 +

bo

1 out of 3

e Incorrect mean in Part A

e Correct numerator in Part B (1 mark)
e Incorrect trimmed mean in Part B

Exemplar 2

2 out of 3
e Correct mean in Part A (1 mark)
e Incorrect numerator in Part B

e Correct trimmed mean in Part B (follow-through error) (1 mark)
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Exemplar 3

A)

6 cors
B)

IS cars

2 out of 3

e Correct mean in Part A (1 mark)

e No process shown in Part B

e Correct trimmed mean in Part B (1 mark)

Exemplar 4

A Y+(0x(15+2L0 32 +(2 < b =1k

86

B) \pt18 ¥20%12 T4 = 51
S

2 out of 3

e Incorrect mean in Part A (order of operations)

e Correct process in Part B (1 mark)

e Correct trimmed mean in Part B (follow-through concept error) (1 mark)

Note to marker: A maximum of one mark is deducted for incorrect application of order of
operations.
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Question 39 E5.S2 2 marks

Juan is 1.7 m tall. He is taller than 45 other students in his grade. Including Juan, there are
60 students in total.

A) Calculate Juan’s percentile rank. (1 mark)

Answer:
PR = b
n
45
60
=75 or 75th or PR <1 mark

B) State the percentage of students in Juan’s grade that are 1.7 m or taller. (1 mark)

Answer:

100-75
=25% <1 mark

OR

Answer:

15
—x100
60

=25% <1 mark
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Exemplar 1

A 4s

GO

> (00 = =74

- JuAN € TAWgr THAN PS5, oF OThep
STuoENT N ldic GrAps

B) 25/.

1 out of 2
e Incorrect answer in Part A
e Correct answer in Part B (1 mark)

Exemplar 2
A) PR=% Yoo
2
45 xj0°
co .
.35 %

1 out of 2
e Correct answer in Part A (1 mark)
e Incorrect answer in Part B
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Exemplar 3

v 769

» QY o are h|’9her Jhanhim

1 out of 2
e Incorrect answer in Part A
e Correct answer in Part B (follow-through error) (1 mark)
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Question 40 EsS.1 2 marks

Nina wants a mean score of 80% on her math quizzes. There are five quizzes in total and her
marks, as a percent, for the first four quizzes are shown below:

Quiz Percent (%)
1 73
2 90
3 95
4 70
5 X

Calculate the percent Nina needs on Quiz 5 to make sure her mean quiz score is 80%.

Show your work.

Answer:
73+90+95+70+x 30
5
328+ x _ g0 (- <1 mark for process
5
328+ x = 400 |

x=72% <« 1 mark
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Exemplar 1

-z R
2% S
1 out of 2

e Correct substitution (1 mark)
e Incorrect final answer

Exemplar 2

224475 _ 404,
-3
1 out of 2

e Correct process (guess and check) (1 mark)
¢ Incorrect final answer
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Question 41 E5S.1 2 marks

Marisse took an art class. Her final mark is calculated according to the categories shown below:

Category Weight Mark (out of 100)
Paintings 30% 76
Photography 20% 92
3D Animations 10% 68
Drawings 40% 90

Calculate Marisse’s final mark by using a weighted mean.

Show your work.

Answer:

Final mark = (0.30x 76) +(0.20 x92) +(0.10 x 68) + (0.40 x 90) <« 1 mark for process
=228+18.4+6.8+36

=84 <1 mark
OR
Answer:
) (30><76)+(20x92)+(10><68)+(40><90)
Final mark = ™ <1 mark for process
8400
100
=84 <1 mark

Note to marker: Award one mark for a follow-through error only if the numerator or
denominator is correct.
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Exemplar 1

Do+ TR+ 69+F0 = 326+ Y- 8.5

0 out of 2
¢ Incorrect process
e Incorrect final answer

Exemplar 2
Category Weight ~ Mark (out of 100)
Paintings 30% 76 1130
Photography 20% * 92 (940
3D Animations 10% R 68 (310
Drawings 40% 7 90 3(0Q +

1 out of 2

e Incorrect process

e Correct final answer (follow-through error) (1 mark)
e EO6 (rounds incorrectly)
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Table of Questions by Unit and Learning Outcome

Appendix A:

Home Finance

Question Learning Outcome Mark
1 E6.H.1 1
2 E6.H.1 2
3 E6.H.1 1
4 E6.H.1 2
5 E6.H.1 1
6 E6.H.1 2
7 E6.H.1 1
8 E6.H.1 3
9 E6.H.1 3
Total = 16
Precision Measurement
Question Learning Outcome Mark
10 E5.P.1 1
11 E5.P.1 1
12 a) E5.P.1 1
12 b) E5.P.1 1
13 a) E5.P.1 1
13 b) E5.P.1 1
13 ¢) E5.P.1 1
14 E5.P.1 1
15 E5.P.1 1
Total = 9
Vehicle Finance
Question Learning Outcome Mark
16 E5.V.1 1
17 E5.V.1 2
18 E5.V.1 2
19 E5.V.1 1
20 E5.V.1 3
21 a) E5.V.1 2
21b) E5.V.1 1
22 a) E5.V.1 2
22 b) E5.V.1 1
22 ¢) E5.V.1 1
23 E5.V.1 2
Total = 18
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Probability

Question Learning Outcome Mark
24 E5.S.1 1
25 E5.S.1 1

26 a) E5.S.1 3
26 b) E5.5.1 1
27 E5.S.1 1
28 E5.S.1 1
29 E5.S.1 1
30 a) E6.P.1 1
30 b) E6.P.1 1
Total = 11

Geometry and Trigonometry
Question Learning Outcome Mark
31 a) E6.G.2 1
31b) E6.G.2 1
32 a) E6.G.2 2
32 b) E6.G.2 1
33a) E6.G.2 1
33 b) E6.G.2 1
34 E6.G.1 3
35 E6.G.2 1
36 E6.G.1 3
Total = 14
Statistics

Question Learning Outcome Mark

37 E6.P.1 1
38 a) E6.P.1 1
38 b) E6.P.1 2
39 a) E6.P.2 1
39b) E6.P.2 1

40 E6.P.1 2

41 E6.P.1 2

Total = 10
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Appendix B:
Irregularities in Provincial Tests

A Guide for Local Marking

During the marking of provincial tests, irregularities are occasionally encountered in test
booklets. The following list provides examples of irregularities for which an Irregular Test
Booklet Report should be completed and sent to the department:

e completely different penmanship in the same test booklet

¢ incoherent work with correct answers

notes from a teacher indicating how he or she has assisted a student during test
administration

student offering that he or she received assistance on a question from a teacher
student submitting work on unauthorized paper

evidence of cheating or plagiarism

disturbing or offensive content

no responses provided by the student or only incorrect responses (“0”)

Student comments or responses indicating that the student may be at personal risk of being
harmed or of harming others are personal safety issues. This type of student response requires
an immediate and appropriate follow-up at the school level. In this case, please ensure the
department is made aware that follow-up has taken place by completing an Irregular Test
Booklet Report.

Except in the case of cheating or plagiarism where the result is a provincial test mark of 0%,

it is the responsibility of the division or the school to determine how they will proceed with
irregularities. Once an irregularity has been confirmed, the marker prepares an Ilrregular Test
Booklet Report documenting the situation, the people contacted, and the follow-up. The original
copy of this report is to be retained by the local jurisdiction and a copy is to be sent to the
department along with the test materials.
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Irregular Test Booklet Report

Test:

Date marked:

Booklet No.:

Problem(s) noted:

Question(s) affected:

Action taken or rationale for assigning marks:
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Follow-up:

Decision:

Marker’s Signature:

Principal’s Signature:

For Department Use Only—After Marking Complete

Consultant:

Date:
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Appendix C:
Marking Guidelines

A 0.5 mark deduction will apply each time there is a lack of clarity in written responses.
Communication Errors

The following errors, which are not conceptually related to the learning outcomes associated
with the question, may result in a 0.5 mark deduction. Each error can only be deducted once
per test and is tracked in a separate section on the Scoring Sheet.

The total mark deduction for communication errors for any student response is not to exceed
the marks awarded for that response. For example, there would be no communication error
deductions if no marks were awarded for a given response.

E1l (Final Answer)
« final answer not clearly indicated (e.g., 3/4 and 3:1 presented, but final answer not
indicated)
e answer is presented in another part of the question
¢ too much information is presented in the answer and the information is numerically and
conceptually correct (If contradictory information is provided, no mark is awarded.)

E2 (Notation)

e dimensions written in an alternative form than requested (e.g., write the tolerance in the

. 1 .
form nominal value +£= tolerance and student gives maximum *° )
2 — tolerance

e answer expressed in an alternative form than requested (e.g., express probability as a
percentage and student gives a decimal form)

E3 (Transcription/Transposition)

e makes a transcription error (inaccurate transferring of information from one part of the
page to another)

e makes a transposition error (changing order of digits)
E4 (Whole Units)

e does not use whole units in contextual questions involving discrete data (e.g., people,
cans of paint, percentile rank)

E5 (Units)

e uses incorrect units of measure

e does not include units in final answer (e.g., missing dollar sign for monetary values,
missing degrees for angles)

e answer stated in gradians or radians instead of degrees
E6 (Rounding)

e rounds incorrectly
e rounds too soon

e does not express the answer to the appropriate number of decimal places
(e.g., monetary values are not expressed to two decimal places)
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